PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

ITEM NO. / ARTICLE NO. / ARTICULO NO : S786-131
DESCRIPTION / DESCRIPCION :POSH LEG TABLE | TABLE A MANGER | MESA DE COMEDOR

) M)
® ®

x4 Table Legs %

x1 Tabel Top x2 Table Leaf
x1 Dessus de table x2 Panneau de table x4 Patte de table
x2 Extension x4 Pata de mesa

x1 Tablero de mesa

= = ®
o E ®

x8 Hex nut 12*12*6 mm %

xg Eat ;NﬁSh?r?SéL?:);g:gmzm * x8 Lock washer @5/16" %
X A°” de |e Pla e " 16.’“ ) x: 2”““ x8 Rondelle de blocage @5/16" x8 Ecrou hexagonal 12*12*6 mm
x8 Arandela plana ©5/16"x19x2mm x8 Arandela de Seguridad @5/16" x8 Tuerca hexagona 12*12*6 mm

x1 Open Wrench @5/16" %
x1 Clé a fourche &5/16"
x1 Llave de boca @5/16"

* Replaceable Part

Page 1 of 3 i i
9 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For assembly instruction video, please go to: www.myfmitureinstructions.com



ITEM NO. / ARTICLE NO. / ARTICULO NO : S786-131

ASSEMBLY INSTRUCTION / INSTRUCTIONS D'ASSEMBLAGE / INSTRUCCIONES PARA EL ENSAMBLAJE
DESCRIPTION / DESCRIPCION :POSH LEG TABLE | TABLE A MANGER | MESA DE COMEDOR

UNLOCK
Déverrouillé Verrouillé |
Desbloquear Bloquear

* Replaceable Part

P 2 of i i
age 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For assembly instruction video, please go to: www.myfmitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM NO. / ARTICLE NO. / ARTICULO NO : §786-131
DESCRIPTION / DESCRIPCION :POSH LEG TABLE | TABLE A MANGER | MESA DE COMEDOR

%
e RS

x4 S786-131-LEG- Table Legs * x1 S786-131-HWKIT-Hardware kit *
Patte de table Liste des pieces de quincaillerie
Pata de mesa Lista del kit de materiales

* Replaceable Part

P f ; ;
age 3 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For assembly instruction video, please go to: www.myfmitureinstructions.com



	786-AI-c-1
	图纸和视图
	模型


	786-AI-c-2
	图纸和视图
	模型


	786-AI-c-3
	图纸和视图
	模型



